dF/F ResponseStimparH 2 Cell218

0.04 1-!5’5|clle Ampl Spelc dff

500

1000

1500

2000

f (Hz)

oy " "
L R s ) L T e

E &
=
—4

—4
—

50

100

150

Segment for cell#218

50 100

150 200 250

Stimpart12 Transients events Pair

P ol =0-60724
1 om . oo
0.5
0 @ @
£
£ 2
N z

#event per trial

Stimpart12 Spikes Events Pair

10

Ca traces
%] [#%] L=

-

2000 25
dF/F for Stimpart1 2

400

3 300

g

= 200
100

Decnvl spikes

(=]

=0.94097

I::‘\lralue

(o]

—
o

NoStim o o

Stim

0

0
° Stim_art12 ;‘ﬁnj,{ggg;Eventg

Stiiﬁ?sé?FFﬂ Spikes Events Shuffle modix per Btrial

count

1000

500

0

pvalue-modidx

0.5

=0.6068 F’\.r'alue-mn:sdidx=0'81 9

500
K

count

0 0.5

Mod Idex (a.u.) 05 0 05

Mod Idex (a.u.)



